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588 10421 408  FSZEA = oflel 4= 23 2| 2HE (S| 2)
587 10411 4.08. S - #10377 22 SO (ElH)
586 10407 4.08. HET - el E M2 = (E1H)
585 10422 4.08. Mz o= ofiel 4= 23 Ll EETEER)
584 10399 4.08. Mz o= ofie] = =3 SO (EH)
583 10423 4.08. Ofz7 DA o2l = =3 M (E[2)
582 10402 4.08. ofz3 o= sfiel 4= 23 MR (E[2)
581 10405 4.08. ] En o= sfie] & =3 M (EI)
580 10412 4.08. =23 23, ZYA oflel 4= 23 Ll EETEER)
579 10419 4.07. 457 FHLICE sfiel 4= 24 ME9 2 (&)
578 10374 4.07. Ay = sflel = =3 Moz 2 (5¢)
577 10364 407. SUHRF oA ofiel 4= 23 A2 2B (S| H)
576 10379 4.07. Mz =Y sfiel = =3 2| 2 HE (S 2)
575 10377 4.07. Mz - ol z Ll FETEER)
574 10359 407. YSIZL o= sfiel 4= 23 2| 2 HIE (S| 2)
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409 9515 3.28. Mz AT QI siel 4= =4 MEQ=2H(E1H)
408 9545 3.28. YA o= ofiel 4= 23 M (E[2)
407 9385 3.28. Ly o= sfiel 4= 23 Atz | 2 (2] 2)
406 9574 3.28. deT = o2l = =3 e ERSEE))
405 9524 3.28. A7 - #7914 8% Meo|z 2 (52)
404 9560 3.28. Ly o= sfiel 4= 24 Moz (5¢)
403 9571 3.28. 33 - #8669 {2 Ll EETEER)
402 9507 3.28. Mz o= sfiel 4= 24 RN TGRS
401 9572 3.28. Ay = sfiel 4= 23 oo (E[)
400 9510 3.28. &0y o= ofiel 4= 23 B3| TSt H A (2] 2)
399 9553 3.28. 27 - 27 3| Az | 2 (2] 2)
398 9516 3.28. =T Ef= oflel = =3 cEERIS[EE))
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627 2.23. ZT2F - g Ha 2 MEUtuH A (5] H)
593 2.23. LA HEG sl = Meo|z 2 (5¢)
420 2.22. Mz - Ot S= M2 H(E[H)
365 2.22. s - 2T Y o MEol2(52)
348 2.22. 27 - EIE &RIZt & IUSYZYH(E)
188 2.21. Mz - MHR| = ZHSY= 2 (E[H)
161 2.21. Mof=+ - Sh Ha 2 ZEHSYU= 2 (E[H)
136 2.20. 2T - #56 8= MBS HA (S| 2)
121 2.20. s - 45 OHIIE 2t M2 =23 (E[#)
112 2.20. Z27 - #136 8= METHE (52
m 2.20. A - =t A=A ZHSYU= A (E[H)
83 2.20. z27 - #6 U&(2Y) TS = (5 2)
56 2.19. 27 - #30 ¥= MEo 2 (&)
40 2.19. g7 - da7 OIIE & ZESUYC=2(E[H)
30 2.16. z27 - #29 ¥= METistnE e (5 2)
29 2.16. 2T - #33 W= MBSt H A (AHY)
24 2.7. OHLFA| 2otu I ol ¥4= T HSUC = (EH)
23 2.6. MohE+ = A siel = SUSTYZ (52
21 2.5. a4= - #6 Y= MBSt H A (5] 2)
19 2.5. ST AvtE= siel = Mo 2 (52)
13 2.2. QKA 25t wgl el = SYSLYZ(E/2)
1 1.31. =24 - #6 Y= MU St H A (S 2)
10 1.31. Z=23 - #o 8% Mt E e (5 2)
9 1.31. d=7 - #5 H= M2 H(E[H)

7 1.30. OpZE~ S R ol ¥4= M2 =22 (E[H)

6 1.30. Z27 - #3 4= METHE Y (52)
5 1.30. E-hn == S8 aiel 8= M2 2H(E[H)

2 1.24. YA 3 R siel = TS = (5 )
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